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Does the agreement 
involve the use of 
software or capital 
assets?

S
o
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Does the agreement 
meet the definition 
of a lease.

If the arrangement meets the definition of a lease and 1) the 
transferor's existing asset is the only underlying PPP asset; 
and 2) the operator is not required to make improvements; 
continue with the flow chart to determine if the 
agreement is an SCA, if not treat as a lease as prescribed 

Does this agreement 
involve software?

Follow MOM 
Policy 338.

Is the operator3 in the 
agreement required to 
provide a public 
service?

Is the contract for a 
specific period of 
time?

Is your agency procuring a 
capital asset or service by 
compensating an operator 
for activities that may 
include designing, 
constructing, financing, 
maintaining, or operating an 
underlying nonfinancial 
asset?

Is this an exchange or 
exchange-like 
transaction?

Does the operator have 
the right to operate or use 
the agency's capital asset, 
including infrastructure?

Are payments by the government 
based entirely on the asset’s 
availability for use rather than on 
tolls, fees, or similar revenues or 
other measures of demand? 
Availability for use may be based on 
specified criteria such as the 
physical condition of the asset, 
construction milestones, or the 
achievement of certain availability 
measures.

Stop GASB 94 does not 
apply.

Stop GASB 94 does not 

Stop GASB 94 does not 
apply.

This is likely an APA. Add to 

Likely a PPP, continue
to determine if it is a 
SCA.

Stop not a PPP or SCA

Has the operator provided your 
agency with significant 
consideration, such as an up-front 
payment, installment payments, a 
new facility, or improvements to an 
existing facility?

Does the operator 
receive compensation 
from fees collected 
from third parties?

Stop not a SCA, 
inventory as a PPP

Stop not a SCA,
inventory as a PPP

Does the state have the ability to 
modify or approve (1) which 
services the operator is required to 
provide, (2) to whom the operator is 
required to provide the services, 
and (3) the prices or rates that can 
be charged for the services?

Stop not a SCA, 

Stop not  an APA

Is the transferor entitled to 
significant residual interest in 
the service utility of the 
underlying PPP asset at the 
end of the arrangement?

Stop not a SCA, 
inventory as a PPP

This is likely an SCA, add to 

Stop not an APA

Start
Stop GASB 87, 94, and 
96 do not apply.
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Is this an exchange or 
exchange-like 
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1A Public-Private and Public-Public Partnership (PPP) is an arrangement in which a government (the transferor) contracts 
with an operator (a governmental or nongovernmental entity) to provide public services by conveying control of the right 
to operate or use a nonfinancial asset, such as infrastructure or other capital asset (the underlying PPP asset4) for a 
period of time in an exchange or exchange-like transaction.

No

2 Some PPPs meet the definition of a Service Concession Arrangement (SCA) which is a PPP in which (1) the operator 
collects and is compensated by fees from third parties; (2) The transferor determines or has the ability to modify or 
approve which services the operator is required to provide, to whom the operator is required to provide the services, and 
the prices or rates that can be charged for the services; and (3) the transferor is entitled to significant residual interest in
the service utility of the underlying PPP asset at the end of the arrangement.

3 The operator may be a governmental entity or a nongovernmental entity. References to an
operator include both governmental and nongovernmental entities, except for operator accounting
and financial reporting provisions, which only apply to governmental entities.

4 Underlying PPP assets include (a) existing assets of a transferor, (b) assets that are newly purchased or constructed 
by the operator, or (c) existing assets of a transferor that are to be improved by the operator.

5 An Availability Payment Arrangement (APA) is an arrangement in which a government 
compensates an operator for services that may include designing, constructing, financing, 
maintaining, or operating an underlying nonfinancial asset for a period of time in an exchange or 
exchange-like transaction.
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